.'_'.'_'.'..'DQ)CK

ROWING
INSTALL INSTRUCTIONS
PAGE DIRECTORY

ALUMINUM ROWING DOCK CONNECTION (BOLTED AND HINGED)

oooooo



A EE.'.:D@\QL(@

/V

INSTALLATION INSTRUCTIONS

Aluminum Rowing Dock Connection

(Bolted and Hinged)

* Your project may have one or both of these connections. All Rowihg Docks are fully pre-assembled and labeled for ease of installation.



BEFORE INSTALLATION

Thank you for your purchase with AccuDock. Our products have been constructed for durability
and designed for easy installation. Please take the time to read these instructions carefully before
installing your attachment.

Check your package carefully to ensure you have all parts and hardware listed below. Should you
be missing any of the hardware please contact us.

PARTS LIST

While unpacking, please be sure to not discard any of the parts. Set them aside on a flat
surface and ensure all parts are present prior to installation.

Note: The part list below does not provide quantities due to the variation of hardware required
for each installation. Every installation is unique and may require different quantities and

hardware size.

Part Qty

PVC Pipe with Aluminum Pin =
(For Hinged Connection Only)

3/8" or 1/4" Hex Bolt -

3/8" or 1/4" Flat Washer -

-~
m

3/8" or 1/4" Locknut -

TOOLS NEEDED

9/16" Wrench (2) or 7/16" Wrench (2)



Label |Description

1 3/8" or 1/4" Hex Bolt

2 3/8" or 1/4" Flat Washer
3 3/8" or 1/4" Locknut




Bolted Connection:

First, remove the PVC deck boards at the ends of the two dock sections that will be connected.
This step will allow you to gain access to the inside of the aluminum dock frame. Save the deck
screws, you will need them later in order to re-install the deck boards.

C-CHANNEL

ALUMINUM DOCK FRAME _
PVC DECKING
—
| f
- f—— L —— ——

ENCAPSULATED — o ALUMINUM DOCK FRAME
e it FLOATING DOCK
FOAM

C-CHANNEL

PVC DECK BOARD




STEP TWO

Next, position the floating dock sections side by side to each other with the pre-drilled bolt
holes aligned. Insert the 3/8" Hex Bolt along with a Flat Washer through the pre-drilled holes
on both the aluminum dock frames. Insert a Flat Washer and Locknut on the other side and
secure connection. Repeat this step at each pre-drilled location for each bolted connection.

Lastly, re-install the PVC deck boards using the original deck screws.

i \
3/8"HEX BOL ° \ 3/8" LOCKNUT
3/8" FLAT WASHER

3/8" FLAT WASHER—/




STEP ONE

Hinged Connection:

First, place adjoining floating dock sections in-line with each other and align the hinge halves
on the same axis.

Note: The floating dock sections have hinge halves pre-installed (with locations pre-labeled,
and PVC decking notched for flush hinge mounting, allowing a no trip hazard).

FLOATING DOCK
e HINGE HALVES DOCK HINGE HALVES!




STEP TWO

Next, insert the PVC Pipe through the hinge until the end of the pipe is flush with the end of
the floating dock. Repeat step with the Aluminum Pin by inserting into the PVC Pipe until
the end of the pin is flush with the end of the dock. When inserting the pin, make sure the
bolt holes align at the farthest end. See Detail A.

Lastly, insert the 1/4" Hex Bolt along with a Flat Washer through the side of the PVC Pipe.
Insert a Flat Washer and Locknut on the other side of the pipe and secure connection.
Repeat this step at each hinged connection. See Detail B.

1/4" HEXBOL

1/4" FLAT WASHEG—\
ALUMINUM PIN
PVC PIPE
.\ 1/4" FLAT WASHER
DETAIL B 1/4" LOCKNUT

DETAIL A
SCALE1: 4 SCALE1:15



T~ a—n N
e — &N

CK
N

FOR MORE INFORMATION CALL 954.785.7557 OR
EMAIL SALES@QACCUDOCK.COM

WWW.ACCUDOCK.COM

8
052023





